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I Semester Diploma Examination, April/May-2021

ENGINEERING MATHEMATICS

l Max. Marks . 100

Time : 3 Hours ]

Answer oné full question from each section.

L oos (i
Instructions )) One full question carries 20 marks.

(ii

SECTION -1
1. (a Find the value of x,
1 2 9
g2 x 0= 0. 4
3 7 -6

T2 1 5 -1 .

() A=y 5}andB=\:4 1 },ﬁndAB. 5

(c) Solve the equations X + Y 0,y+z=1 and x + z =3 for y by Cramer’s rule. 5
[_ 3 1 2 |
@ Ifa=| -2 1 1 |find AL, 6
L 3 0 2
2 3 -1
2. (a) Evaluate | 3 -2 1 4
1 1 2
, -1 0 35

(b) IfA= s 3 and B = s 4 prove that adj (AB) = [adj(B) adj(A)]. 5

(c) Verify whether AB = BA for the matrices '
1 05 3 -1 4

A=| -1 2 1 |andB=| 0 -1 1} 5

5 43 2 4 -2

(d) Find the characteristic equation and eigen values for the matrix{ 2 -1 'X ]

-3 1 ]
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-1
ugh the points (2. 4) and (8. .

. . ind the
pe form of the straight hine and find

. of 3 units.
ough the point (3. 6) and slope of 3 it

3

_iatercept are
* whose *v-intercept and y-interce

dard form of' it

sy 43y +1 ~gand 2v-y +4-0

. . . - 30° with
line which is making an angle of 30

cept of the line 3x -2y = 6.

- which has an angle of inclination 45° with
vriting its standard form.
line. Find the equation of the straight line

d (5. 4).

ne passing through the points (3. 2) and
= 0.

N — 111
_ 1
30=16 -

N

205C01T
Jor4
6. (@)  Find the value of cos 75°

()  Simplity

oo
sin(n—())—m*'\z—\_

Cos LSTT( »0) .

1
2> findtan (A + By,

his
sin (-0) tan (3 - “) cos Ln )

© tuna-Liumn -

(d) Without using calculator and table fipq the value of

sin 600° cos 330° + €05 120° sip 1500

SECTION - 1v

@ Ify=3x+51ogx—2e¥ + tap-ly find le
o’

_l-tanx dy
(b) Ify—l*-tanxﬁnd dx

(©) Ify=(e"-sin'x+41og x)10 ﬁnd%y; .

1619

(d) IfS=1t -1 +9t+8 where S is the distance travelled by particle in t seconds

Find the velocity and acceleration at t = 2 seconds.

8. (@ Ify=x3-3e*+2cosx+ sin“xﬁnd% .

d
(b) Ify=2xlog (¢ find 4.

(¢) Ify=tan'x show that (1 + xih’: + vy, = 0.

(d) Find the equation of the tangent 1o the curve y = 2x

(1, _1)

3 5¢? + 8x - 6 at the pont
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